
Slange Ø8/Ø61915000217-4

10_MIR

47

Slange Ø8/Ø61915000217-4

10

46

M6 Washer 6,4/12,5x1,6 DIN 125A A4291010012545

M6x30 Hexagon Socket Head Cap Screw DIN 912 A4291030044844

Push-in hex Nipple Ø8 / G1/4" internal thread291500021443

Elbow 90° M8x1,25k/M10x1294460017342

Push-in nippel ø8-M10x1 udv.294460023941

Brackets for automatic lubrication291500023240

Automatic lubricatorLAGD 125/WA2291500022539

Afstandsstykke for kuglestyr KL2162302738

Klistermærke, Warning2162402037

Flowplade KL1162301536

M8x20 Pinolskrue DIN 916 8.8 Sort291030012535

Adjustment plate KL, machining2162306534

O-ring 75x3,0292210035933

M8 Facetskive 8,4/17x1,6 DIN 125B FZB1691010000732

Spændeskive KL1162306331

Ventilkugle Ø15 PP natur antistatisk1696200004630

M8x25 Stålsætskrue DIN 933 rustfri A4691000048729

M8 Washer Ø8,4/Ø17x1,6 DIN 125 A4691010000428

Ball guide KL PEHD 1000 black antistatic1162302627

M12x20 Insexskrue 8.8 FZB191030045926

Kuglestyr KL PEHD 1000 black antistatic1162302525

Pasfeder 8x7x50 DIN 6885A191500021024

M6x20 Insexskrue DIN 912 rustfri A4691030044723

Rubber gasket for KL bearing cover2162306622

Gasket KL Flow plate / pump house Oakenstrong 0,4mm2162302321

Gasket KL shell / flow plate Oakenstrong 0,4mm2162302220

Mekanisk akseltætning HN45292200004219

Serial number plate 25x125 mm110691218

Plug ½” black conical hexagon.191030018417

Prop 3/8" black conical Original Allen791030018816

Slangenippel 20 1/2"192500024615

M8x20 Insexskrue DIN 912 8.8 FZB891030002414

M8x90 Stålbolt DIN 931 8.8 FZB1691000002013

Smørenippel M8x1,25 90° H3291500019712

Direction arrow110694611

Simmerring 40x55X7 DIN 3760 A 192220003610

Simmerring 45x65x8 DIN 3760 A29222000519

Kugleleje 6308 ø40/90x2329300000818

Bearing cover, machining116230627

Bearing cover KL, machining116230616

Rotor KL350 lgd.:190mm116230185

Plug 1" black conical hexagon.29103001824

Flowplade KL116230043

Pump housing KL, machined216230572

Shell KL350/KL400                Machined116230021

TitleQtyPart numberPos

DOC1627341_1

416

5

1 1823

20 36

23

394445

43

40

13 32

41

42

47

42

46

16

15

6

22

31

26

41 24

7

14

10

1332

37 2

11

20338

30

1925

29 28

21

8

9

34

33

23

27

12

17

35


